Commerce
Paper III

TSy

gyutseRt 11
Time Allowed : 2% Hours] [Maximum Marks : 150
Note : This Paper contains Seventy five (75) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

AT : A1 YeUIhd TR Uegar (75) dguardl 999 fooiel ofRd. Yo U9l & (2)

0 . W Y gredl.

The central problem of economic
system is :

(A) Allocation of resources

(B) Economic welfare of common

citizens

(C) Selecting right system of
economic planning

(D) Achieving the goal of maximum
social welfare

Which of the following is not a trade
block ?

(A) Commonwealth of Independent
States (CIS)

(B) Asia Pacific Economic
Cooperation (APEC)

(C) South Asian Free Trade Area
(SAFTA)

(D) Asian Union for Economic
Welfare (AUEW)

sfeiesh aed el Aehadl HE
AR

(A) HEIEAT 3TEe0 (9e9)

(B) HaEM=T RIhia 3T sheamon

(C) aMfefer frarsHmEmer Sfea yomet=i
fas

(D) HEwH WIS Hedue 3qgI

e HLO

qEIcdeh] HIUT HeeAT ‘AR o'
T ?

(A) FHITTed fh sfeiee Red

(B) TR UHither SehiHiHeh ISR
(C) 99 TR ® ¢ TR

(D) TR oA TR SHHAIHS TehaR
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Write the phases of trade cycle in

the most appropriate order :

(A) Revival —  Recession -

Expansion — Contraction

(B) Revival — Expansion —

Recession — Contraction

(C) Contraction — Revival —

Recession — KExpansion

(D) Recession — Contraction —

Revival — Expansion

Which of the following is not a right

of the consumer ?

(A) Right to safety

(B) Right to be informed

(C) Right to get rewarded

(D) Right to be redressed

=T fafay stecerr=n gard dam

E i G

(A) FiEssiied — W — faarR -
eIk

(B) Tessiad — foR - W -
Thra

(C) WhE — Teseied — W —

CESTIES

D) B — T — JRseed —
faer

qEeTdeh! IO TR AV TFh
T ?

(A) He&=1 YR

(B) Hifecl Wl shivdren SAfReRR

(C) 9@ 9 swoarEn IR

(D) deR Tarum=n 31y
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5. Match the following and write the

~

FEB — 50313/I11

5. Siiedl o S0 @ett foeied Hehdreh g

correct answer from the codes given A IR e -
below :
'rE‘ ‘A’ 'rE ‘B’
Group ‘A’ Group ‘B’
(1) Sfvaarteto o fofag = oS
(1) Globalisation @) Expansion of economic
activities across il S
political boundaries of anfeer foparen foem
nation state HO
(2) International (zi))  Promotion of ) amvr&ﬁ?:r MY ) TR T HEA
Monetary Fund international trade fre . f -
through tariff
a0
reduction
(3) SNIfdeh &AMR (i) fafHaeua fee
(3) W.T.O. (iir) Promote exchange
stability . U
(4) GATT (iv) Administration of trade | (4) € (v)  SATIRERE ST
policies review U IO A
mechanism m .
Codes . . N
A D6 @2)-Gi) B)-Gv) (4-G)
A -G (2-G)  3)-Gv) D-GD)
B) D-G)  @2)-Gv) B)-Gii) (D-G)
B) -G 2)-Gv) )G (4)-G)
| ) | © M) @-G) @) @-Go)
©C O @-G@ )G (4-Gv)
D) DGo) @) B0 (d)id) D) (D-Gv) @)-G@) B)-@) (4)-Gi)
[P.T.O.
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Which of the following practices is
nd in connection with the

convention of conservatism ?

(A) Providing for bad and doubtful

debts

(B) Providing for discount on

debtors

(C) Providing for discount on

creditors

(D) Providing for taxation

Profit-volume ratio is a relation

between ...............

(A) Profit and sales volume

(B) Profit and marginal cost

(C) Contribution and sales

(D) Profit and sales value

WIeeTden! v Jgd IRATEG! Hehdreit
ffeq -mEr 2

(A) 79T B0 (Ffed A0) F Wiy H/q

(Gifad 3A0) SEEE T/

(B) &R AT Shad= (Y2) TR

ETU

(C) RURHT o=l wed= ()

(A) <9 g fasl A

(B) oY o ®HM ©d

(C) ¥ o foas

(D) @ 9 fasa g
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Discount on issue of debentures is
written off .............

(A) in no case later than the date
of redemption

(B) in any period selected by the
company

(C) before finalisation of company
annual accounts

(D) before
debentures

redemption of

Amit’s Trial Balance as on 31st
March, 2012 includes the following
accounting information :

Bad debts Rs. 5,000, discount
allowed Rs. 3,000, Provision for
discount on debtors Rs. 3,300,
Provision for bad and doubtful debts
Rs. 5,500, Book debts Rs. 60,000.

At the end of the year it is desired
to maintain a provision for bad and
doubtful debts of Rs. 5,000 and a
provision for discount on debtors at
Rs. 3,000.

Hence, sundry debtors account will
appear in the balance sheet at :

(A) Rs. 52,800
(B) Rs. 43,200
(C) Rs. 52,000
(D) Rs. 44,000

FEB - 50313/I11
FeiearA fameda F@ () &

...................... T Tt 4.
(A) HIOTAE TR Se T

RAhe =T feATRT gelf=a1 sreratid

o LN

(B) U SUaIed IR Shicaeid

oc

(C) HYr=a anftier el e WEq

(D) FSRIEA= WAher=a Tal

3faa=a 31 A" 2012 = dSHY AE-
fougeh Wil Hifgd] THIfISE Hivdrd
el e

3T R (S I0) 5,000 F., HA
foran feorelt §2 3,000 %, ORI
ATEATAT HEU () FqEar=l qGR
3,300 %., 3TUTH KU 9 WY FHUMHIR
®K 5,500 ., GEERU 6,000 T.

Ul R HUTE F Hie RUEe
5,000 %. o SBUhIH! TSI el ()
d 3,000 T RIS KA AT
uferd T

TR desaicTd fehtehled 0T WITd Seil

Jq WA feldd
(A) 52,800 %®.

(B) 43,200 <.
(C) 52,000 =.
(D) 44,000 <.
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10.

11.

12.

Rs. 5,000 spent on replacement of
worn out part of the machine will
be charged as .................

(A) Capital expenditure

(B) Revenue expenditure

(C) Deferred Revenue Expenditure
(D) Indirect expenditure

the

Business Economics 1is

integration of economic theory with
business practice for the purpose of
facilitating decision-making and
forward planning by management ?

This definition is given by :
(A) Dr. Alfred Marshall

(B) McNair and Meriam
(C) Spencer and Siegelman
(D) Edwin Mansfield

Total revenue — (explicit cost +

implicit cost) =
(A) Pure profit
(B) Accounting profit
(C) Gross profit

(D) Monopoly profit

10.

11.

12.

FEB — 50313/1I

T HATA TSN 9N S AvITHIG!
TEl Tael 5,000 ¥ el qHTo
RIS e

(A) Tsaett Ed
(B) Weqd @+

(C) focifed wegel @
(D) YA T
" JeregAen ol SM 9 vfasardie

~

BRISEEETURE L C IR C il RED

G A SIS shetel Tehaeh 0]

TEUTS AT Eeh 319 B € e

(D) Tefoq dfhes

THY SqH - (goIR T+ WA
) =

(A) & TH
(B) <@l T
(C) @&les TH
(D) RS T
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13.

14.

15.

of Giffen Goods,
compensated demand curve will

be :

In case

(A) Upward sloping
(B) Downward sloping
(C) Horizontal

(D) Vertical

Marginal utility approach was

finalised by :

(A) J.R. Hicks

(B) Alfred Marshall
(C) J.S. Mill

(D) A.C. Pigou

The slope of indifference curve in

demand analysis is :

13.

14.

15.

FEB — 50313/I11
T aeg=an sTedia fdqie AN a5k

(A) SEEH
(B) ST
(C) fafas TR

(D) 3T

o ST gfteshnen sifan ey
RIEIE I

(A) SR feam

(B) @iche ARIA

(C) Siwg. faa

(D) wH. 97

HETOT faveTooTdier dewedl Jehil THIhL0
el Yo 3T ¢
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16. The most important factor in

determining the size of sample

(A) Investigator’s view

(B) Time of survey

(C) Heterogeneity of population
(D) Place of survey

17. The average of weekly wages of
workers in a factory is Rs. 5,500 with
the standard deviation Rs. 1,100,
then the coefficient of variation of

the wages is .......cc....... %.
(A) 30
(B) 20
(C) 50
(D) 15

18. Degrees of freedom for chi-square
test of testing the independence of
two attributes in case of 4 x 3

contingency table are ...............
(A) 12
B) 9
©) 8
(D) 6

17.

18.

(A) STERTT gfteehld
(B) wegfumrsl des
(C) wHfte=ht fafaifiar
(D) FE&UT=T S

Teh! HRETATA HIETRE A6

UE 9 5,500 %. STEA A YHI

foge™ 1,100 & 378, W o= fa=)o
) -

(A) 30
(B) 20
(C) 50

(D) 15

SR M TUTCHe: Seli=l it 4 x 3
ST SHISTHTA hell STHA T 1 T[UIHR

N A a

AT FReeieT hE-EhHsT HER e
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19. If the two regression lines are given

by

Il
DO

x — 3y
x — 2y = 3,

then the arithmetic mean of X

(A) 3
B) 2
O 1
D) 5

20. If P(A) = 0.6, P(B) = 0.8,

P(A NB)=0.4, then PA|B)=.......
(A) 0.6
(B) 0.5
C) 14

(D) 0.3

x— 2 =3,
S — 2
(A) 3
(B) 2
) 1
D) 5

20. SR P(A) = 0.6, P(B) = 0.8, P(A n B)

— 0-4’ a{ P(AlB) — e

(A) 0.6

(B) 0.5

C) 1.4

(D) 0.3

[P.T.O.
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21. Match the following and select the
correct answer from the codes given

below :
¢ A’ ‘B’
(1) Scientific Management (1)  McGregor
Theory
(2) Administrative (i) Elton Mayo
Management Theory
(3) Theory X’ and Theory Y’ (iii) Fayol

(4) Hawthorne Experiment (iv) Taylor

Codes :
(A) (D-Gid), (2)-G), (3)-GD), (4)-(iv)
(B) (1-GD), (2)-Gv), (3)-(), (4)-(iii)
(C) (D-Gv), (2)-(iir), (3)-(), (4)-(i)
D) (D)-@), (2)-(), (3)-Gv), (4)-(ii)
22. Max Weber is associated with

(A) Administrative theory
(B) Classical theory
(C) Scientific Management theory

(D) Bureaucracy theory

FEB -
21. SIS S S et fSoied Hehdrhed
Iy W e .

‘A’ ‘B’

(1) e sgeraas fagid () HRIR

(2) TRTESE HAEAIA (i) Teed TR
s

3 ‘&g’ fag@ a ‘=’ (i) ®AA
s

(4) T T (iv) e
Hebd

(A) (D-Giv), (2)-(), (3)-(@D), (4)-(iv)
(B) (1)-G@D), (2)-(Gv), (3)-(), (4)-(ii7)
(C) (D-Gv), (2)-@GiD), (3)-(2), (4)-(i)
D) (D-GD), (2)-@), (3)-Gv), (4)-(ii7)

00 T FT A a1 gt
RECHCHIT

(A) WNTERF faga

(B) sifyema fagma

(C) der =Heergar=n fag

(D) RwmErEn fagmE
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FEB -

23, involves a detailed | 23. 9RUICl ek HFIGER o
guideline to policy. gy YT B
(A) Method (A) Tl
(B) Rules (B) =™
(C) Programme (C) HrEwH
(D) Procedure (D) Yomelt
24. Classical theory of organisation | 924. gge=n sfyed faga W AY
focusses on : $fed wL@l
(A) Technology (A) TR
(B) Systems (B) =IaE
(C) Work (C) %
(D) Management Philospohy (D) HEAIHT A
25. Tom Peters introduced the concept | 25 < foed = I GheqTdl
of : TR el
(A) Five Force Analysis .
(A) weRmER fagersor
(B) M.B.O. (Management By
Objectives) (B) SEWIIEY HALATIA
(C) Liberation Management (C) FHrE! o
(D) Achievement Motivation (D) fagt won fagm
11 [P.T.O.
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FEB -

26. Setting call objectives is done during | 26. faswa TfwRAdA WIelcTdsh!  HIvTT
which of the following stages of the Taxgd guehtdl 3fese fauffta weft
selling process ? Siard 2
(A) Prospecting (A) e
(B) Pre-approach (B) H9h-glesh
(C) Approach (C) gftesm
(D) Handling objections (D) =m&d e

27. Which of the following is a | 27. FNRUS TEIHIUMHG! THEEA FTHEER
demographic basis of market Tkt AT F<eh olelld  SuIra
segmentation ? Jadr ?

(A) Lifestyle (A) SteTesh

(B) Income (B) 394

(C) Climate (C) drdreon

(D) User status (D) AT T

28. If the sample size increases, the | 98 <=M MR d@em ® Fg F

sampling error .............
(A) 1 2Bd
(A) decreases
(B) increases ® e
(C) remains constant (C) fer T=d
(D) sharply increases (D) WIS JHIOMG oed
12
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FEB -

29. Which of the following is a type of | 29. Wcficiushl HIval Y34 foga @&
open-end questions ? IR ?
(A) Likert scale (A) TIHS AU
(B) Attitudinal scale (B) giiceieh oot
(C) Multiple choice (C) Fgwarh free
(D) Completely unstructural (D) quid: STERf=d
30. Which of the following is not a tool | 30. WIcliciush! IV LA SR HIEA
of public relation ? & ?
(A) Events (A) TET A
(B) Sponsorship (B) T&hd HEHH
(C) Publications (C) ehTe™
(D) Coupons (D) HIA
31. Assuming that the current ratio of | 37 Fgig =g OIRR 2 ¢ 1 31 318 TJEi
a company is 2 : 1, out of the ¥R, TICHTIeh] SHIUT STeitd TR
following, indicate the case where the
ratio will remain the same : RE Jhew § TE
(A) Payment of a fixed liability (A) feer T 9@ (Tne)
(B) Purchase of fixed assets (B) TR ool ®Rel el
(C) Cash collected from customers R e T
(D) Issue of new shares
(D) et = forht et
13 [P.T.O.
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32.

33.

The product of asset turnover and

profit margin is known as

(A) Operating leverage

(B) Financial leverage

(C) Return on investment leverage

(D) Capital Gearing

Prof. Walter establishes the

relationship between .....................

and its influence in the dividend

decision.

(A) Capital structure and Average

rate of return

(B) Net present value and

Profitability index

(©)

Internal rate of return and

Average rate of return

(D) Internal rate of return and cost

of capital

33.

(A)

(B)

o} o a

(C) Taerehtaital fHesehdt=n gfaqee

(D) wigad FfaIh

(A) Yt Te S Aise S TUE

558
(B) = =AM goa s @y
BEAGERCIEEIC]

(C) Fad Hreagen g U YUl Hiegen

=58

(D) 3Adifd Hieeem €T MU Yigas

YR T

14
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34.

35.

36.

37.

The explicit cost is the ...............

which equates the present value of

cash inflows with the present value

of cash outflows.

(A) Inflated rate

(B) Cumulative rate

(C) Discount rate

(D) Differential rate

The turnover ratio helps the

management in ................

(A) Managing resources

(B) Evaluating performance

(C) Managing a debt

(D) Understanding
position

financial

................. is a process to discover the
source of manpower to meet the
requirement of acquiring efficient
workforce.

(A) Recruitment

(B) Induction

(C) Manpower planning

(D) Interview

The process of indentifying and
developing employees to occupy
higher jobs as per organisational

34.

35.

36.

37.

FEB -
g qﬁoqq ({Ql‘ci) %_ ....................

H1 S Tl sTadere SuH Hoaeh fae
dfgfd gamel sRIeR Fger qed.
(A) =méE <2

(B) Hafad X

(C) Herefdr=n &Y

1) ER M ENEAN

A=A UK SERATIHTAl
HY HEA

(A) HEATE FRATTH  HIAME

o AN

(B) SMHIRNE HIHIA hI0IMd

(C) U ALY

(D) Tfefer afifeerdt wHsToamd

HEH A{EeAl WWel Avd &
NI ket
(A) Wt

(B) HEAT=™

N

(C) ATFd IS

(D) Hedred
T TS Ad 959 STaa) i
T HIOATHS! HHIAAET N 5T

need is ......ccoceeen.e. rolchrH:l oh{uqlnjl \Hrghaﬂl ......... I
(A) Career planning (A) SIETHH l"'e""":'
(B) Succession planning (B) SwIfurerRt s
(C) Manpower planning (C) HTeIs T7airsH
(D) Human Resource Development (D) AFE e o
15 [P.T.O.
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FEB - 50313/11

38. e is a test that measures | 38. TETRN HUAFA Y I TeH
whether an individual has the Heard AT fafiTse s HIoarEt e
capacity to learn a given job if given o8 YA ARl ATSl HISO  HIoAT
adequate training. T T,

(A) Aptitude test (A) & =it

(B) Situational test (B) uRfEerdt =m=mon
(C) Achievement test (C) 3feseurd] ==
(D) Job knowledge test (D) A =T

39. A quality circle should consist of a | 39. JER] qgiodld I HHT T T
minimum ................ members ? T Tifest.
(A) 6 (A) 6
(B) 12 (B) 12
(C) 4 (C) 4
D) 2 D) 2

40. ::;f(;};gﬁinctmn is not included in 40, FhE T 98 T FEE GRS
(A) Transfer w7
(B) Recruitment (A) =t
(C) Induction and orientation (B) et
(D) Organisation, planning and (C) & Mee@ d 3T

development (D) gued, faem 9 fawrg

41. When the banks are trying to | 4 g1 S oicenet (3eTR) I TR
strengthen customer relationship TS WEEA UEE G e
with the help of i.ntérnet and O I FEE de
:}SIber technology, it is termed o TR
(A) Universal Banking (A) éﬁ?ﬁ_ ﬁw (Sf¥er <fem)
(B) Mixed Banking (B) T WT .

(C) Retail Banking (©) ol ET'WT
(D) Virtual Banking (D) et =ffenm
16
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42.

Match the functions of financial

system according to their features

42. foxita =EEE=t i 9 SR Jr= gard
Sirewn e 3o feeiean Gehdiehed A

FEB - 50313/11

and select the correct answer from W fEe
the codes given below :
I I | 11 ’
(a) Savings function (1)  Offers an effective (@) o T ) ot = w@
mode of payment RUEHISICIEEEN
for goods and gt AreAq
services (b) T & (i) TAAUERER & FEdaR
(b) Liquidity function (i) Link between savers T STSUM |1e99
and investors © e @ i) S T FS A
(¢) Payment function (Zit) Mechanism for Wm
mobilisation and N
controlling risk in
_— HIOIT HIEAH
mobilisation of ) )
savings and credit (d) wrd () AL
(d) Risk function (iv) Provides the investor RILRICRINI]
with the opportunity W?ﬁ IEE
to liquidate FLOE YrEt
investment like e e
stock Fraﬁ_d .
Codes @ ® © @
@ ® © @ yooo " |
@ @ @ @ @ B ) o) @
B) (Gv) @) (i) (iii) B) Gv) @) (i) (iii)
(O (7)) (tv) () (111) ©) @ (iv) @) (t11)
D)  GD) @) (iv) (ir) D) @) @) (iv) (i1)
43. The State Bank of India came into | 43. < o 3% sfear = 7Y A&
existence on ................. ST
(A) June 1, 1955 (A) 1 ST 1955
(B) May 8, 1955 (B) 8 ® 1955
(C) July 1, 1955 (C) 1 1 1955
(D) June 12, 1955 (D) 12 ST 1955
17 [P.T.O.
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44.

45.

(@)

®)

(c)

()

Which of the following is not
the advantage of Internet
Banking ?

(A)
(B)
©)

Convenience
Saves money

Needs no formality to open an
account

(D) Greater access to different

services

Match the following pairs and select
the correct answer from the codes
given below :

I II
Principle of (i)  Insurer can acquire
Indemnity all remedies available

to the insured against
third party
Principle of @) It is the right of an

insurable interest insurer to call upon

other insurers to pay for

losses
Doctrine of (i) Security against loss
subrogation
Doctrine of (tv) Essential element of

contribution every contract of

insurance

Codes :

(A) (a)-Gii) (b)-Gv)
B) (@)-G) G)-G) (©-Gv) @-GiD)
(©C) (@-Gv) B)-G) (©-G) (@-GiD)
D) (a)-@) (B)-Gir) (e)-Gv) (d)-Gi)

(- (@)-G)

44.

45.

FEB -
WTefteTyeh! TS (3AS)  SifhaT=n

HIUE RIET AR ?
(A) 9
(B) Temm=it ==

(C) TTd TSI Sanfieha=i TS

RIS
(D) fafay Famn oy s1f¥es Jar I«

qéidl Siedl ol S0 feeiedn HehdrhgH

g I faer

I II
(@ #fOQie @@ () o aEmE
TS Gl
e ST e
&l
@) fomifea™ @@ () ThEM TRUE HOAEE
T foier o= fam
AT TR Ao
SRR
(¢) JARMGd™ T (i) JHHMER B
(d) INEHTE T Gv) oA Fata
METTF  Teh
Hehd
(A) (@)-Gi)) B)-Gv) (-0 (d-GD)

B) (@)-@) b)-@) ()-Gv) (@)-Gi)
(C) (@-@v) b)@) (©)-@) (@)-Gi)
D) (@-@) (Gb)-GD) (e)-Gv) (@-6D)

18
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46.

47.

Which of the following is not the

objective of protectionism ?

(A) To protect domestic industries

from foreign competition

(B) To promote indigenous research

(®);

To discriminate against certain

countries

(D) To control corruption within the

country

................... refers to certain
conditions imposed by government
in respect of foreign investment in

the country.

(A) Trade related investment
measures

(B) Trade related financial
measures

(C) Trade related economic
measures

(D) Trade related competitive

measures

46.

47.

FEB -

ETcATAdsh! TIIUEETE HIvd S(Ese
T ?

(A) <emata sEnTen fadeht wasfurm
e sl

(B) ORI GINEATEN Saisd <01

(C) faferse Iem=a Heufa AgyEm™
Birylksican|

(D) ST ATH@ee 3Tesl SeTol

I GaY TEE SR
AN forRelt Jaauenter ey Sevarare

-~

Sed SURIESHIRT 3TR.

(A) =TAREl qafad [aaushiases

ELIPRISE

(B) IMRRT Hefyd foacita SureRisH

(C) ANRRN Hafg snfefer SurEdsH

(D) AR Heiferd Tqeicien SUTFarsHl

19
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FEB -

48. Monopoly right granted by law | 48 wEREr=d HSR ®hell Tolel THITHHR
11T U S
(A) Slogan (A) SrSEERT
(B) Patent (B) THEHHR
(C) Ownership (C) HIcTehIgaeh
(D) Royalty (D) EfHcgFh
49. Which of the following is not a | 49 grefieiet v w1 faor Fafama
function of foreign exchange
W’ ?
market ? FA TG A
(A) TranSfeI' Of purchaSIHg (A) 9|'z¢|§’|°t<ﬂa 6{{“.(1{["'
power
(B) Provision of credit (B) #i = K
(C) Provision of hedging (C) GERemo gfawn
facilities
- (D) weEdem fafa feso fasfya
(D) Develop efficient exchange
control ETU|
50. The exchange rate system that 50, TIU 99 oMU S ST AR
works on market mechanism is
a_{ a:la@?"n ...................... Wﬁ.
termed as ..............
(A) Fixed exchange rate system (A) fer fafma T o
(B) Flexible exchange rate system (B) =« fafva g ugdr
(©) Capital accounting (C) wiedelt or@ish= qRad-raI
convertibility
D) faftre fafwa <X gl
(D) Specific exchange rate system (D)
20
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51. From the following data, valuation

of closing stock as per AS-2 :

Fixed production overhead for the

year Rs. 4,00,000

Annual normal production : 1,00,000

units

Actual production in 2011-12 :

50,000 units

Closing stock on 31-3-2012 : 2,000

units
Material cost Rs. 100 per unit
Labour cost Rs. 50 per unit

Fixed Administrator overhead

Rs. 2,00,000
Valuation =
(A) Rs. 3,07,500
(B) Rs. 3,08,000
(C) Rs. 4,20,000

(D) Rs. 3,00,000

51. AS-2 TIR Yl Hifgdla®d freereh

FEB -

o i hiod ?

TR e sfysra 4,00,000 & (Ufd

)
TEAT Al ST 1,00,000
2011-12 A4 T8 3cd1ed 50,000 T

31-3-2012 Uit 3R f¥reetes A1 : 2,000

T

edl "l 9 100 T "fd
HE GReqd 50 % 9id 7

feer gemEeRtE sifyem™ 2,00,000 %
TR =

(A) 3,07,500 %.

(B) 3,08,000 %.

(C) 4,20,000 =.

(D) 3,00,000 %.
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52. Which of the following is the most

53.

correct statement ?

(A) Money market is a place where

currency is sold

(B) Money market is a place which
provides monetary benefit to the

public

(C) Money market is a place where
borrowers and lenders of money

or near money assets are put

together

(D) Money market is a very vast

concept which virtually includes

all types of markets

‘Sale’ and ‘Lease-Back’ arrangement

is suitable for a lessee having :
(A) Surplus fund

(B) High profit

(C) Low profit

(D) Liquidity crises

FEB -

52. Wefierdent shivrd faum stfuehiaen 3t

53.

AR ?

o

[dshl

(A) 1 Tt <rerarn Bd 9

T IR 39 R

(B) a1 fowtoil Seaon ofrfefsh oy

Tie=rael SIaTd e U9 e 379

TEUTATd

(C) a1 fohron & emfor emareem

i< hoieR o  hoiald a9

IeR BIdd a9 UHT SeIR 319

TEUTATd

(D) T ISR § UH AUH THehodHl

ST A A9 Hed SIS

THEY B
‘faml’ &1 W I YR uU &

el WISYLE VAT Eefierieh]

Tehl YOI WEEl SO .

(A) a9t Iuctsy STAM

(B) 3S=d d®I 3HdMI

(C) Y A% FAHAT

(D) AT Hehe STHAM
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54.

55.

56.

Which of the following is most
correct statement ?
(A) Treasury Bill is a bill of

exchnage drawn by treasury
over State Bank of India

(B) Treasury Bill is actually a
treasure owned by Govt. of

India

(C) A Treasury Bill is a particular
kind of financial bill/promissory
note put out by the Government

(D) Treasury Bill is a Bill of

Exchange drawn by RBI over
other nationalised bank

Inflation accounting is useful to :
(A)
(B)
(C)

Ascertain the level of inflation
Combat inflation

Bring real results and position
to light

(D) Manipulate inflation as a

development tool

In relation to product and services,
the benefits such as delivery,
servicing, warranties and credit
facilities are known as :

(A) Core product

(B) Main product

(C) Augmented product
(D) Actual product

FEB -

54. Gt Hog fagm oIfus 3T

55.

56.

3 ?
(A) FETRH W o 3MF g

FIecicll gol WU TSI o

HE|
(B) TSI I US| YR TR

= @fed= 3

(C) IR &eaial fafyre g&R=
ST/ TG TSl ASTehiTod I
B

(D) fgrd b TR TLRIFd dhiaR
FIeicll §el TUN TSThIToE o

el

‘TATITE ATWHT HIMETd STHI
3 ?

(A) IATAGEET Uidesl SUSUITETE
(B) <T@

(C) ®R fIhra smfor feerdt gammema
SATOTOTETS

(D) JoHaEEl faREded ®UH a9
EZLRIEIC]

9 RO A A I e

TRUTAT.

(A) HAd I
(B) T&A A
(C) foegd 3creA

(D) ardfdes 3dEA
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57.

58.

59.

To sell FMCG (Fast Moving
Consumer Goods), initially .................
technique is applied.

(A) Mass marketing

(B) Supply factor

(C) Demand factor

(D) One to one marketing

The common element sending a
single message amid the wide
variety of its products, action and
slogan is

(A) Brand image
(B) Brand identity
(C) Brand loyalty
(D) Brand equity

Arrange the following steps of
product development process in
appropriate order :

(A) Idea generation — Business
analysis — Product development
and testing — Idea testing

(B) Idea screening — Idea
generation —  Concept
development —  Product

development and testing

(C) Idea generation — Concept
development and testing —
Product development and

testing — Product launching

(D) Idea generation — Business

analyss - Concept
development — Test marketing

57.

58.

59.

o [aV

[cshl

SIGE] IO
e fosh sl yeva:
IR Al STl

(A) wHfes faqua
(B) &3 T
(C) HETO ®eeh

(D) AfFIIET faque
I, el d SN AN fafas s
Teh e TRy TUftd o 99 weh

(A) B gfam
(B) B9 ekt
(C) = fasar
(D) BY FHIHA

3c1eH foreRmadiel Yeiel Ira=an 4 s
oArdar ¢

(A) Heheu AT —» =goar fageson
— 39eA faw™ g gdam -
HehoUTl LI

(B) HehoU Tl IU&U — Hehouql fAfHdl
— Hohou T faem — Scare foshr™
R T EIL|

(C) Hahou FAfHR — Hahoun foehmd
F &0 — 31 faentd o Tdjeqor
— IAEA TSRUST el HIu

(D) Heheuqn fAfddt — =geEm fagerson
— Hhoad faRE — dNRUS

T &7
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60. Select the correct equation : 60. T O fEe W
Selling price = fosha T =
(A) Fixed Cost + Variable Cost + (A) feoR T8 + 9 Wl +
Profit TH
(B) Fixed Cost + Total Cost + Profit (B) feer gl + 9o T +
(C) Fixed Cost + Selling overheads TRl
+ Profit (C) e wiomm + fasnl eifuem +
(D) Fixed Cost + Contribution + T
Profit (D) fer wie™ + SWEA + 7H
61. Self-actualisation and esteem needs | 61. TSisri o= fagiamefier
in Maslow’s theory correspond to the SR AIEEAl golrel TSIt FHgTereter
........................ factor in Herzberg’s ATHIR I A SAHFATA T
theory TS ool 3TTRal.
(A) Interpersonal relations (A) et FHIAHA FaY
(B) Working conditions (B) & uffeerdt
(C) Challenging work (C) SARMIHE HTd
(D) Quality of supervision (D) vHA&UIRTETE TSi
25 [P.T.O.
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62. Which of the fOHOWlng is considered 62. l;l,Gﬁl(d‘\:I%ﬁl ch'qrrq{)awuuqam-q' °|,;\|U|(-“
a qualitative approach to job g™ T TR HEn
analysis ? S& 2
(A) Position analysis questionnaire A) feofeaTore 9
(B) Interviews

(B) Heirerd
(C) Department of Labour .
Approach © :
(D) Functional job analysis (D) Frfc Frfeer
63. 360° feedback involves appraisals | 63. 360° FATHIN STAIA FEIHTT FHIMER
by : qd ?
(A) Line Manager (A) WEE/ @ HEwIsH
(B) Subordinates (B) ®frs wd=rd
(C) Superiors ©) = -
(D) Any one who is directly in L o
D H@Ellcilﬁill T HYehIdleT hUIEl
contact with appraiser @) | >

64. A carefully selected group of 64. TEATHRAT o frofaoer wwen S
employees who voluntarily meet on STITRRar 9 rRRE wyvarE T
regular basis to identify problems TS Yeieh S STl e
and made recommendations

HHg
are :

A) TUEET #Fh
(A) Quality audit @) Al
(B) Quality circle (B) Ul aijes
(C) Quality control (C) TurE IBREN
(D) Quality assurance (D) TN B
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65. Box ‘A’ Box ‘B’ 65. T ‘3t W A

) Wage curve (@) Employer denies () IT/ASY TR (@) TR/ AeTESER AR
employees the = ;
opportunity to work gt 5

(i1) Glass ceilin, (b) Collective stoppage B . .
g pPpag (i) e et (b) HNIER T

of work by workers .

Y M §E HWO
(i11) Lockout (@) An invisible behaviour . .
(iii) TT3oaT (¢  WfEa Sseddeserid
that prevents women .
TQIaR <hH hI0IE

from advancing to

31T RN 315
higher level
(iv) Strike (d) Relationship between
(iv) §9 d) HEE T T
the value of the job
TR feeft
and arrange wage paid
SO S w1
for the job
Il Gy
Consider the factors given in Box ‘A’
e ‘37" onftr e ‘9 Hefte wesh faemRa

and Box ‘B’ and select the

U gAr wEsE el

appropriate order of action :
A @0 G Gidd G- | A @O0 @) Gdd) -
B) Od) (D) (i@ @) | B @O @) @) @)-0)
C) @@-) - )b Gv-d) C) @) @G- @0 Gv-d)
D @) @Hd G G@-B) | @ @@  @d) G ()-b)
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66.

67.

EXIM Bank can be described as

(A) Non-banking Financial

Company

(B) Commercial Bank

(C) Non-banking non-financial

company

(D) Scheduled Bank

Organisation which is promoting

free trade iS ....cccuuneen....

(A) United Nations Development

Programme

(B) World Bank

(C) International Monetary Fund

(D) World Trade Organisation

(A) for erfyemy fasita gwen

(B) =AM sk

(C) far i forr faxiiar T

(D) 3TEfaa o

(A) TgF T2 fashds wrdsH

(B) SinTfaes  AfYehe

(C) ARSI AArafeft

(D) Sfder SR HE1
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68. Consider the following cost | 68. SEMfHd= Hewld (M= &) 0T
conditions of goods (in terms of AT THIRSTAATN Geuid (dEHey)
labour) and labour cost of production WA &el Aad = e
(in hours)

9 TS Ueheh WIS Uehch

Country 1 Unit of 1 Unit of

A B)
Commodity A Commodity B
HIXd 120 100
India 120 100
SR 80 90
USA 80 90
ST IV | STHRehet faid shall Seat
Now determine which commodity
q g e
will be exported by U.S.A. :
(A) Commodity A (A) T A
(B) Commodity B (B) 71 B
(C) Both (A) and (B) (C) <= (A) Afor (B)
(D) Neither (A) nor (B) (D) (&) sfor (B) = ATt

69. In the balance of payment | 9. =AMRIIST Wi feoiet afayd
indemnities paid by Foreigners E o
1S erereeeeeeenns

(A) HI= 3T
(A) Import of goods
(B) vicaam=l 37d:9dmE
(B) Capital inflow
. . (C) AHHA™T SHI
(C) Unrequited receipts
(D) Unrequited payments (D) K
29 [P.T.O.
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70. Which one of the following methods 70, sATd T - :
of protection depends for success on .
THTAET A STHARTER HX o=t
the elasticity of demand for imports N
d P WIeeTieh! IV TG I 8IS ITehd
. L ?
being greater than unity ? @ 2
(A) Custom dut
Y (A) W@ qH
(B) Canalisation (B) YaTEr
(C) Restriction on capital inflow (C) wicaer=n FaumeR fefy
(D) Quantitative restriction (D) S fely
71. Income received and accrued or 71 WY e s i
arisen outside India from any
Exlaéé T:hal'U]?I_aﬁ' W .................. _q.l.
source is taxable in the hands
of :
(A) FH= fardt
(A) Ordinarily resident
B) -eHl "M 8cien fHardt
(B) Not ordinarily resident (B) &
(C) Non-resident (C) sAfare
(D) All assessees (D) ¥d kR HGM
30
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72.

73.

An individual left India
permanently on 25th December
2011. The assessment year for the
income earned till his departure

shall be :

(A) AY 2011-12
(B) AY 2010-11
(C) AY 2012-13
(D) AY 2013-14

Mr. Ajay took a loan of
Rs. 20,00,000 at 10% p.a. on 1-7-2008
for construction of a house which
is let-out. The construction was
completed in the previous year 2010-
11.
deductible u/s 24 of Income Tax

Act, 1961 for A.Y. 2012-13 assuming

The amount of interest

that only interest is paid from date

of loan, will be :
(A) Rs. 2,00,000
(B) Rs. 1,50,000
(C) Rs. 2,70,000

(D) Rs. 2,80,000

72.

73.

FEB -

TR A fe 25 feder 2011 s
YRACYT hIIHEl Gredll. & RS d=]
T SIS HIHERT a8 o
s {a ?

(A) & AHRO g9 2011-12
(B) &Y AR a9 2010-11
(C) & TR a9 2012-13
(D) Y STHRO I8 2013-14

ot TS AT SRETHES AN X 10%
yiias  20,00,000 % st feA®
1 ST 2008 ST ¥qct AR, § 3R A
qegy  fooial &R = Sigs™
2010-11 =1 Y& auid ol =cl. i

SOdd e el g W 7.

3T A heH 24 THR AT

HISTHIT I8 2012-13 T1S! fohelt S=ieR
e ?

(A) 2,00,000 .
(B) 1,50,000 %.
(C) 2,70,000 .

(D) 2,80,000 *.
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74. Gross total income of Mr. A for A.Y.
2012-13 is Rs. 6,00,000. His savings
and investments during the previous

year were :
(1) P.P.F. Rs. 50,000
(2) R.P.F. contribution Rs. 12,000

Purchase of infrastructure

3)
bonds Rs. 40,000

Deduction under chapter VI A will
be :

(A) Rs. 1,02,000
(B) Rs. 1,00,000
(C) Rs. 82,000
(D) Rs. 62,000

75. Under statement of income in the

return of income is called as :
(A) Tax planning

(B) Tax management

(C) Tax evasion

(D) Tax avoidance

74.

75.

FEB -

ot * 31" I SRR TH TR Thed

3@ 6,00,000 . 3TFA A=A qE au

2012-13 A4 I=dl 9 TaaeR! e

JHO SATRd

(1) wesftes wfos frafe feia s
50,000 =.

(2) Tr=dyTE vfasy frafe feia s
1,2000 <.

(3) Hayd gfaen &&=t Biel
40,000 *®.

AR HIFAA  FhT

VI A TR

U e fHeses.

(A) 1,02,000 .
(B) 1,00,000 %.
(C) 82,000 =.

(D) 62,000 %.

SR TIaor =T 391 hHl SRafaeard
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12.
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This paper consists of 75 objective type questions. Each question
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At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are
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follows :

(i) To have access to the Question Booklet, tear off the
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end of the examination compulsorily and must not carry it with
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to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.
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10.
11.
12.

formeataTd HevaTeT Yo

qﬁmmﬁmwwaq&sﬁﬁawwm

T AU fEeiedn STRafh=n sHich rere ferera.

T YR 75 SgUAE Y STR. Y YA g 07

. 1 JEafahdiel @ U Hrefan i o1, 9ee= woe

T forerme TYUl S7eTEeRHATeR ST $TRd.

TRl Y& FAeareR forneAten yeafsent faeft Sed. geami= 5

oo ST TET TTTfAeR! ST @eiiet e S T

TR

() TR SHSUAEE! TR AR et A Hid SHST.
e THeic foran Hiat Saeciel JeTafieh! Rehe T4.
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IeS At wﬁﬁmmmﬁmw
THU T feha 3a¥ JET STHeTCH WIS Wy-Tufsreht
goardren 5 faferde udasrehe wa g get
YYTURIRT ANTEA SaTal, WAl WgTdirenl sgeft
eS0T ATl el Sesdt Teal fHesuTR =Tl ATl haan

Gii)  FAIAN T USAlegd dfeedratd g¥AaiAsm at
7). TH. 3. ITAfSTeh=n R g

A TR (A), (B), (C) 3T (D) 7eM =R forehed s feeht

ST, TS A I TR Tt SRTIATIA Sesehqul

hTeal/feal L.

T : T(C) T AT T 3THA T
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